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_[0” (xcos x + sin x)dx p.37

1) f(x)=xcosx+sinx [0,7]

[0, 7] X COSX Sinx f (X) = xcosx+sinx

2) F'(x)=f(x) F(x)

F(X)=xsinx+C C

F'(X) = (X)"sinXx+ X- (sinX)'+(C)'=1-sin x+ xcosx+ 0= f(X)

S F(X)=xsnx+C F(x) [0,7]

3) jo” f (x)dx = F (z) - F (0) jo”(xcos X+ sin x)dx

jo”f(x)dx= F(z)-F()=zsSnz+C-(0sn0+C)=0
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G(x):Iog‘x2+9{+C:Iog(x2+9)+C C X*+9>0
G(x)=log(x*+9)+C [-12] i(log(x2+9)+C)= 22X
dx X +9

[-12]
fl;dxzzi(g X = G(2) - G(-1) = log( 2> +9) - log(( -1)* + 9) = log 13 —l0og 10 = log 1.3
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H(x) = Iog‘x2 —ﬂ+C X=+1



